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BaudRate 9600

ByteSize 8 Bit
StopBits 1
Parity None

ParityCheck  None
Communication Protocol And Data Format Description
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Header + Length + Cmdcode +ID + Datao + Datai + Data2 + Data3 +
Datag + Datas + ............. Datan + CheckSum + End
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2: Length => % Header TG 5 %k

3: Cmdcode => g, ek 0xAO
4: 1D => %H, ERIA:0x00
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11: Data(n-1) => TR n AT Bit0 %8 1 sttt =1,

Bitl Jhi%t 2 3T e ( =1, 2% =0, K D5 Bit2 Mt 3 BETHE ( =1, 7
Bit3 A%kt 4 BT ( =1, 5%; =0, K ); Bitd N 5 lEEOL =1, =
Bith A%t 6 B (015t ( =1, 5% =0, K )i

12:Datan ~ => TR n A ETOEE], Bit0 Ak 1 A0 C =1, 58
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13:Checksum =>

14:End =

Length % Datan &I 0x55
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Header + Length + Cmdcode +ID + CheckSum + End

1:

Header =>
: Length =>
: Cmdcode =>
: 1D =>
: Checksum =>

: End =>

0xAl 0x55 (2 Bytes)
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Header + Length + Cmdcode +ID + Datao + Datai + Data2 + Data3 +
Data 4 + Datas + Data6 + Data7 + CheckSum + End

1: Header => 0xB1 0x55 (2 Bytes)
2: Length = 4 Header FTHH 14k
3: Cmdcode => A, [HE R 0xBO

4: 1D => 0x01 - 0x16 (1 Byte)  JFoTARMdl, ERIA:0x00
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5: Data0 => 28 1 ahE C =1, %K =2 i
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7: Data2 => 5 3 ahE C =1, &~ =2 1
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9: Data4 => 255 ghE C =1, &~ =2 1 Fs

10:Datab => ¥ 6 shiE C =1, T =2 JTF;
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11:Checksum => Length % Datab Bk 0x55

12:End => 0xB2
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